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Even though a ppii7 is written in the 0w, he should not return it

OVERVIEW

1M " (according to WaX M) rules that if one finds a 7VW with an enclosed
PD171, it should not be returned to the Mm%, and (the X11)) elaborates: certainly
it 1s not returned if there is no Pd17 since there is the possibility that there
was never a loan, but even if there is a ?9377 (which indicates that there was a
loanz), nevertheless it is not returned, for we are concerned that the loan was
paid. mooIn discusses whether this ruling applies even when the Mm% admits
that he owes the money,’ or only when there is no admission by the m>.

nooIn asks:
— MY XY MDY 2N NNPY TINRTI N7 2990 1PN Y99INRT YHIUNT NN

It is astounding! For it appears that we are discussing a case where the
MY is not admitting that he owes the money, as the X3 states while
discussing the case of P97 12 212 X? where he certainly should not return
the “vw, because ‘perhaps the Mm% wrote the W with the intention of

borrowing, but he never actually borrowed;’ obviously the m> is not admitting
to owing anything,* and -

— 1995 195UNNT N> XY 72
Therefore (even in the case of 79177 12 21nD) the "vWw should not be returned

to the m%n, for we are concerned that perhaps the m? paid -
— “N93DY 19U KYT 99N NI MY BN YaN

However the indication is that if the /% admits that he owes the money, the
Tuw should be returned to the m5n, for we are not concerned for a

swindle -
— N990D7 205U NMNINIY 7912 MY NN HYIYY IV NPWH XD

And we are also not concerned that perhaps the m° paid the loan and he

' A poar is a writ of 7"2 attached to the 70w that the signatures of the witnesses were authenticated.

1t is the mvn who requests the o171 (the M> has no interest in having the 0>»pn VW), this indicates that the
mM> gave the 71U to the M7, proving that there was a loan; otherwise the 7% would not give him the n"vw.
 We do not return the 70w even if the m> admits, because (since it is a lost M0w) we are concerned perhaps
the m>n and the M? are conspiring to defraud the mmIP? — a X°111p. See the X3 previously on X,».

* See "2 R"wn "W, See ‘Appendix’.

> By returning it to the 7» we may be causing a loss to the m> that he will pay twice.

® When the m> admits that he owes the money we are not concerned that perhaps the m> already paid, but
he is conspiring with the 771 by saying ‘I did not pay’ in order that the m>» will collect from the mmp> and
the M> and 79 will share the profits of this swindle. This concern is too far fetched and is not considered.
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wants to borrow again with this 70w in order to save himself from paying

‘the coins of the scribe’;’ we are not concerned for this and if 77 21 the 0w is
returned. This concludes the opinion of our X773 here.

Mmoo continues with his question:
— 951N PN 12 21N D123 13 9HT INIY GOV 1IN 229 9NN (v, 97 IPYT NYPH

And this is difficult, for later 3ar7y° '3 rules, a "vw which (which was found

and) has today’s date and it is authenticated, it should be returned to the
mon -
— 799 2”NYWI XIND 29 1Y DI

And X175 29 established this ruling of *"1 in a case where the m> admits
that he owes the money -
— 95N XY £Y°3 92 2IN5 PN YAN D12 12 DINIY NPIN

And this ruling (that it should be returned to the m>») applies specifically
only when it has today’s date, however if it is not dated as of today, it

should not be returned -
- SN’)WP DIVN IN N99D7 Y0V DIVN IN

Either because of X9597 >u'2d or on account of a R°1P, and from our X713
here it seems that °"9 not concerned about X1907 0w or X11Ip.

mooIn expands the contradiction:

— 171 29903 P9TN5 KY 23N 290YW KT PNHINN 1IN 339 SN (3, 97 IIYY 19
And similarly previously "' established the mw» of 29> XY n''vw Xx»
in a case where the % admits owing the money, and the reason we do not return

the 0w to the M1 -
— Myqaywinm 1) (MY) 33 HINN 12 PRT 1929 99207 N3D BIUN)

Is because we are concerned for a X%111? since the j139 maintain that even

a WY without 2°001 n1AR also collects STaywnn -
— (1909 297 19NN NOIM)

” The fee for writing a new T0w. The concern here is if this is indeed so that it is a used v, then legally
this 70w is void and it cannot be used to collect from Mmmp5. We are concerned that the 792 will collect
with this 70w from the mmp%. This concern does not involve such a blatant swindle as ¥°111p (for the only
concern is maybe the 7721 will collect from the mmpY; however it is possible that the m> will pay him and
all will be legal), nevertheless 172X "3 is not w1 even for such a ‘minor’ swindle. See ‘Thinking it over’.

8 The xma (on X,1) only mentions the wwn of X1907 "vwd, but not the wwn of X°11p, since there we are
discussing a case of 012 12 and we are not w1 for a X°11p when the 7w is dated a2 12 (see 2"7 1 on
X170 27 7"7 R,7° n1vOMN).

° The 1127 of that 73wn maintain that 9°11> X% even if there is no 2°021 N°ANX written in the TVWw.

1% y3m» 1 does not actually mention the wwn of x'1mp. However the Xn) there subsequently uses this
explanation. See also >"w1 there >7Taywnn 7"7.

"1t is not clear why nN1901N mentions this here (see 1'"11).

2

TosfosInEnglish.com



9"¥R 7"7 '010 2,70 »"2 .7"02

(and we learnt in a Xn>92 supporting the view of 3'"9). We find in two (other)
places that " is concerned ¥°111p% (and X1907 *v’wd) and therefore we do not return a
found W even 77 2°nw), however here it seems that he is not concerned for X117 and
X907 *vwo, and we will return the VW where the m» admits. How can we reconcile these
conflicting statements?!

Mo0IN answers:
— 19M9% 2299 NIIIN) 111393 INVININYT 99D U

And one can say; that the two contradictory statements reflect the view of

different 2°871%K regarding the opinion of 3" -
— 0999 21V Pn1in 2950Wa N 13N %297 RNYN KON Ty N3N 297

For X172 29 (who maintains that we are wwn for X°11p or X1907 W) will
establish this ruling of >''1 (that we do not return a 2377 12 23NOW W) even
in a case where the m® admits that he owes the money. And the reason we

do not return it is because we are concerned for a N3P (this is the view of 27
R17D) -
— 79 22N PNYI NPT V9927 1DaN a9

And 73R %29 who explains this ruling of *"7 (that we do not return a VW
PDIT 12 W), is discussing specifically only a case where the % does not

admit and therefore we do not return it -
— NNIPY WM XYY 9N NN 2NV HaN

However when the m% admits owing the money, the n"vw should be

returned, for we are not concerned for a X°111p; therefore 1728 7 -
250N 295 v XY M5Y AN RNY DIYM NI 29NY DIY5T 1PN0INN 5123 TNy’

'2 Others omit this phrase. Those that include it, will explain that this bolsters maoin difficulty with 7% "
here who (seemingly) maintains ®1p2 pPwwwn PR, while the X3 which cites the "7 P> X°an
(seemingly) maintains that we are X°111p% wwin. See footnote # 19.

" Even though moown previously determined from the words M X2 % 202 Xnw that we are discussing a
case of 771 21 PXWD, nevertheless (according to Mooin) the words beginning with >y X2 and onwards
are the words of 172X " and not the words of *". All that >" said was 0°%¥2% 171> X? "121 X*¥117, and K172 27
will interpret that even 777 21w because R21IP2 1PWIIT.

14 Similarly s""1 explanation (on 2,3) of the 71wn follows the view of X177 2.

'3 3728 " also agrees that 1M 1 establishes the 73w in a case of 77 27nwa (as it states clearly on 2,3),
however 172X ' maintains that the reason of 9°117° X7 is not because of X°1117 but because 70°12 M>% an3 kAW
MWwn Ty M2 &9, as oK 17 initially explained the nawn. See ‘Thinking it over’. [The reason N90IN writes XA
12 X921 M2 an3 and not »wn 7Y MY X1 70°12 MY2 an3 knw, see footnote # 18 that according to 71"7 2,2> MooIn
X?1 the meaning of »wn 7v M2 X7 is that he still did not borrow and he wants to borrow now in *wn,
therefore it is appropriate to refer to this W as M2 X7 N9 an3. This is not the same as a X*111p, however.
By a X°n1p there is no intent of borrowing at all, just to perpetrate a swindle on the mmp?, however by an>
m>Y there is intent to borrow; the only problem is that the 77791 may collect from the earlier 175 X?w mMmp~].
' We do not return this quw because the 79n may collect illegally from the nymp> who bought ¥p77 from
the M> between 10°1 (When the quw was written) and >wn (when the loan took place and the T2yw began).
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Will also establish the previous ;7aw» (where the 0°»217 maintain 21 X?) in
a case where the /1 admits. We do not return it because of the concern that
perhaps he wrote the 70w in j0°1 in order to borrow but he did not borrow

until *wn as SON 231 explains the mwn -
- 177!N)i7ﬂ VYA 195 MY XYY MYY aNaY wnNIND XYY XN Yan

However in a case where there is no concern of 7v /7% X% 10212 Y% an>

"wn, as for instance by RIP7T LW -
— NOMIPY 1PWN RYT 95TNY XN 93 *Hasn 13 219 N

Or in a case where there is a P37 written in the 70w as is the case here in
the ruling of >", if the M7 is 77w, the W is returned to the Mm>n, for we are
not R P> W,

Moo responds to an anticipated difficulty:
— 299 1991 1529NN3 1Y ANRT AN 72D XNIPT RNPYV Y5 0PI KININ

And the X923 previously, which mentioned the reason of N°11p, agrees

with a8 who maintains ¥ 7957 2112 7Y and therefore there can be no
concern of *wn 7Y M7 X?170°12 %Y 2> -

999N XY 225091 99PN N
Or even if that X713 does not agree with »2X, but it maintains that we do not
suspect that it happened that the 20w was written without the m%» lending the

7 See ™Muwa "7 X, "W, A 7RI 0w is where the Y pledges his assets to the mon regardless if there will
be a loan or not. Therefore, even if *Wwn 7v M2 X9 10°12 M2% 203, the M7 may legally collect from jo°1.

18 See X1 11"7 2,2° MOIN that the wwn of 10°1 7Y M> X9 ™wna M>» an3 means that we suspect that he wants
to borrow now (which is in *7wn), but not that he borrowed already, w"»¥. Therefore if there is a Pp17 we
cannot have that wwn that perhaps he wants to borrow now, for since there is a 5377 it is obvious that there
already was a loan. See footnote # 2.

19 2,% q7; indicating that according to °"1 we are X°1p% W@, which contradicts 2R " here. See footnote #
12. The question is why indeed did the &73 assume the reason of X113 (like X175 27) and not the reason of
712’91 N19% ano (like 17aR ).

0 This means that [regardless when the m? transfers the 70w to the mn] the 0*7v acquire the right for the
M1 to collect from the MmMpP> from the date of the 7w (and not from the date of the transfer or loan).

2 See previously &,». If we do not maintain 17 1°31 ¥ 17v (like **ax), then 0°7v cannot write a W for
the 777 unless they see the loan (for we are concerned that perhaps there will be no loan until later and the
M2 will collect from the earlier 73 2w mmPY?), or unless it is a IXP7 0w, The X3 explains that even
though this 70w which was found is not a 7iX1pi7 0w and presumably the 0>7v saw the loan, so there should
be no concern for m? X721 M>% 2n3, nevertheless we do not return the Tww for perhaps '2°n21 "PR'; it
happened that the 0>7y mistakenly wrote a oW for the m? without seeing the loan. Others disagree with this
concern (and say the only concern is X°111p, meaning the m? paid already).

2 The xn>a that supports *", merely states that the npY>rn is 77 2°mw> (as *" does); however, it does
not explain why the 7127 maintain 717> X9. It is the X3 there which explains that the reason of the 1321 is
X°111p 0wn (since they hold like *»ak or 1R &2 2°n131 *1pK). However 172X ' can say that both *"1 and the
XN*72 maintain "1 X7 (according to the 1337) because *Wwn Ty 7Y &1 10°2 M%% 2nd Raw, because he
disagrees with 2K and maintains also that we are concerned for 2°n21 ™pX.
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money; therefore it had no choice but to explain the 71w» in a case of 777 2nw> and we
are concerned X°11p5.

SUMMARY

There are two opinions regarding the view of 137 " that we do not return a
PDI7 12 ww Ww. According to AR "M it was taught only 77 271 PRWI,
however 7177 2°nw> we return it for there is no wwn of M2 X7 M%% an> and
we are not concerned X1pH. However, according to Xiid 27 the ruling
applies even 777 2»nw2, because R1IP7 WM.

THINKING IT OVER

According to mooIn it appears that 1738 " is not wwn for *1107 *vws,” but
he is wen for 2*(wn 7v) MY ¥ (j0°12) MY% an3. Seemingly in both cases he
may be causing a loss to the mmp> (but not definitely, for if the m> pays
there is no loss). Why the distinction between the two?!

APPENDIX

nvoIN states that it is apparent that 7311° "7 is discussing a case 7177 21 XYW
since the X713 writes (regarding the case of 29177 12 2102 PX) that we certainly
do not return the 70w since "M X7 M%% 2n> xaw'.>

Superficially it seems obvious that we are discussing 7712 21 PRI, for if
the MY is 77 how can the X3 say M2 X2 M7 2n> Xnw (in the case where
PDIT 12 PR) or NYIDY 1wn (in a case where 917 12 2113), when the 717
admits that he owes the money.

However this is not a conclusive proof; for it is possible that even though the
MY is 77 that he owes the money, nevertheless we do not return the Tvw,
out of concern that Mm% X?1 M%2 an> or NYI9? 1°W*N, meaning that we are
concerned that perhaps the m>» and the Mm% are making a X°111p against the
mmpY, and really the MY never borrowed the money or he already paid the
money. This alone, then is not sufficient proof that we are discussing X3
a7 271

mooIn proof may be as follows; if we assume that we are discussing a case
7T 20 PRWD, meaning [preferably] that the mY is not present (or that he
claims I do not owe you), then we can understand why the X713 uses the

2 See footnote # 7.
2 See footnote # 15.
2 See footnote # 4.
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reason (for not returning the “vw) of M2 X717 MY an> by 537 12 PR and the
reason of 13¥19% 11°w™n in a case where 5177 12 2102, The MY is not present. In
a case of 917 12 X there is more reason not to return the WY since it is
possible that there was never a loan (and even if there was perhaps it was
paid), and the w171 of °"7 is that even if we know there was a loan (since
P17 12 21N2), nevertheless 717> XY for NwHo? 10w,

However if we assume that the M7 is present and claiming that he owes the
money (and the reason we do not return the W is because X1IpPH 11W*N),
then there is no difference whether there 1s a P9377 or there is no p217. If we
do not believe the m> and we are X°11p% wwn then why are we more sure by
P17 12 X that it should not be returned than by 5177 12 w°?! In either case it
1s just as likely (or unlikely) that they are making a X°111p. And furthermore
why does the &n3 give a different reason by P9377 12 PX (that m> K21 M7 2nD)
than by 517712 @ (that w157 11°w»n), there should be only one reason which
is that 11197 1w n. The fact that the X713 gives a different reason by 12 PR
PoI (that M2 X2 M%% 2nd) proves that the M7 is (not present and is) not
admitting. Therefore (as mentioned previously) there is a lesser 1717 by X
7917 12 (since there is the possibility that there never was a loan) than 12 w»
P917 where we assume there was a loan.

This is perhaps what M20In means when he says m? X21 MY% 202 XKW MRT,
meaning that since the X3 gave a different reason by 2317 12 X than by ©°
P97 12 (and did not say [X°111p21] 139195 1°w>°n1 in both cases), this proves that
we are discussing a case of 77 21 PRWI, P,
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